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// Solve the given inequalities. Write ‘No Solution’ where applicable. \\
/ \
| |
| |
) 2lx-1]-524 10 +4x| <14 |
| |
| |
| |
| |
| |
| |
| |
| |
| |3x-12|26 2x+5|+4<3 |
| |
| |
| |
| |
| |
| |
| |
| 1 |
: 5|2x+2[-32-3 6 3|gx+2]+6<15 |
| |
| |
| |
| |
| |
| |
| |
| |
, 3+[n-2|>5 ]%\25 |
| |
| |
| |
| |
| |
| |
| |
| |
| 5-6|x+7]s17 3-2‘3x-1‘2-7 |
| |
| |
| |
| |
| |
‘ J
\ /
\ e

— ———————— — — — — — —— — — —— — —— — — -



Date:
CSoIving Absolute Value Inequalities>
// Answers
f
[
[
) 2lx-1]-524 [10+4x| <14
[
[
[
|
: No solution 6<x<
|
|
| |3x-12|26 2x+5|+4<3
|
[
[
: = 20ra=6 No solution
[
[
| 5|2c+2|-32-3 (6] 3|%x+2’+6<15
[
|
|
: x=-1 -T0<x< 2
|
[
[
, —3+‘n—2’>5 ’%‘25
|
[
[
|
| n<-6orn>10 x<-30orx=30
[
|
|
| 5-6|x+7|<17 3-2|3x-1|27
[
|
[
| 4
'\ x=-9orx<-5 '?stz
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